a(0 @) (raqd)

10771

SICEWATL

=
<

owp./p,)

/NI RN B AR i
1|V A il
TR
TS felersbt B
U LG B L GG L )
| ] ] 144
R = .: - ik
c N
i iK:

-1

0 1 2 3

TP n (PCA to beamline)

a(d cot(d))

1071 4

0 1 2 3

TP n (PCA to beamline)

DQN_MKFT_TTorigimar

1071

—
—— DOQM_mkFit_TT_pL
—— DQM_mKFit_TT_pLW
—— DOM_mkFit TT_pLW_1H
& : : i
#| [ . s |
i ; ; Al it i
| R et I I
A A L PO P P I v 1 1 A1 P
: 5 5 |
T TET TR ST »
=3 -2 -1 0 ] 2 3

TP n (PCA to beamline)

=

JEny
S
[

T

T

-2

-1

o 1 2 3
TP n (PCA to beamline)

z
T

oo a,) (cm)

107}

e

- 44

|

-2

-1

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


